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Section A : (30 x 2 MARKS )

For each question from 1 to 30, four options are given. One of them is the correct
answer. Make your choice (1, 2, 3 or 4). Shade the correct oval {1, 2, 3 or 4) on the
Optical Answer Sheet.

1. The diagram below shows the development of an animal over two months.

\Based on the diagram above, which one of the following conclusions can be
made?

(1) The animali has grown.

(2)  The animal feeds on plants only.

(3) The animal grows longer legs to jump higher.

(4) The animal can only respond o changes after two months,

2. Three organisms S, T, and U were observed over a penod of time. Their
characteristics were recorded in the table below.

Organisms
Characteristics S T u
Able to move freely from place to place No Yes No
Able to reproduce Yes Yes Yes
Able to respond to stimulus Yes Yes Yes
Able to make its own food Yes No No

Which one of the following identifies organisms S, T and U correctly?

S T u
()] Fungi Animal Plant
(2) Plant Animal Fungi
(3) Bacteria Fungi Piant
(4) Plant Bacteria Animal.




3. The classification chart below shows how some animals are grouped.

Body coverings

D E F
Sparrow Swordtail Whale
Peacock Cobra Elephant

Which one of the foilowing represents headings D, E and F correctly?

D E F
(N Feathers Scales Skin
(2) Skin Hard covering Hair
(3) Hair Skin Hard covering
(4) Feathers Scales Hair

4. Joan notices that the papaya plant in her garden does not bear fruits although it has
flowered a few times. What could be the reason for this?

A Poliination has not occurred

B The flowers has only male parts

C The flowers has only female parts

D The plant is not mature enough to bear fruits

(1) A only

{2) B and C only
(3) A and B only
4)A, B, CandD




The diagrams below show two plants and their leaves ‘

Plant M Plant N

Leaf of Plant M

Which one of the following differences can be observed between plants M and N?

Differences
Plant M Plant N
{1) it reproduces by fruits : ft reproduces by seeds
(2) it reproduces by seeds it reproduces by spores
3) It has lobed-edge leaves It has jagged-edge leaves
4) it needs light It does not need light




Jason made an observation of three ammals A B and C H:s observatlons are
recorded in the table shown below. :

QObservations

Animal A

- Animal B

Animal C

Have 4 legs

v

Have lungs

v

Lay eggs

Have wings

v
v
v

Have breathing
holes

v
v
v

Which one of the following identifies animals A, B and C correctly?

Animal A Animal B Animail C
(1 Bat Duck Grasshopper
(2) Dog Hen Butterfly
(3) Cat Grasshopper Duck
[ (4) Grasshopper Duck Bat

The classification table below shows the human body systems.

. l Human Body Systems
E F G
Windpipe Gullet Heart
L.ungs Small intestine Blood vessels

Which one of the following identifies headings E, F and G correctly?

E F G
(1) | Respiratory Digestive Muscular
System . System System
(2} | Circulatory | Respiratory Digestive
System System System
(3} | Respiratory Digestive Circulatory
System System System
(4) | Circulatory Digestive Respiratory
System System Systemn




The diagram below shows a part of a plant.

Which one of the following states the functions of parts R and S correctly?

R S
{1) | Makes food for the plant Absorbs water and mineral salts
(2) | Stores excess food and water Absorbs water and mineratl salts
(3) | Absorbs water Absorbs mineral salts
{4) | Absorbs mineral salis Absorbs water

The following are parts of the human digestive system.

Guilet
Stomach
Mouth

Large intestine
Small intestine

MooOm>

Which one of the following correctly identifies their functions?

Produce digestive juices Absorb nutrients
(1) B.D,E B,D,E
{2} A B CDE B
(3) B, E D, E
(4) B,CE E




10, Martha wanted to find out how the amount of soil would affect the germination of

11.

some seeds. Below are some-of the set-ups she couid use.

Set- ["Numberof| Amountof Amount of | Presence | Temperature
up seeds soil water of light

E 4. 1000g 50mi Yes 29°C

F 6 500g 200mi Yes 32°C

G 5] 1000g 100m! No 32°C

H 4 500g 50mi Yes 29°C

Which of the above set-ups should she use for her experiment?

(1)  E and F only
(2) GandHonly
(3) FandGonly
4) E and H only

The bar graph below shows the number of days in each stage of the life cycle of
insects C and D.

Number of days

147
12 -

Blnsect C
Olnsect D

~» Stages

Egg Larva Pupa Aduit

How many days do insects C and D take to grow from the egg stage to the adult
stage?

| InsectC Insect D
(1) 37 days 30 days
(2) 23 days 20 days
(3) 18 days 12 days

4) 13 days 14 days




12  Study the concept cartoon shown below abofit the systems in living things.

The respimTory systein needs
digested food from the digestive
system to get energy.

Qur heart pumps more
blood Through the
circulatory system

when we do -sfr'enuous 757 é@ =
exercises. . v/
Annie = Bob

Our circulatory system
transports digested food and
oxygen to all parts of the
body.

The digestive system produces
carbon dioxide which is carried
away by the blood.

® 8 3
(3

&/ Q
“~>Deanne

Charles

Who has/have made the correct statemenis?

(1) Annie only

(2) Annie and Deanne only

{3} Charles and Deanne only

{4) Annie, Bob, Charles and Deanne

13. The diagram below represents the circulation of blood in a fish and a man.

Circulatory path of a fish Circulatory path of a man
Gills Q | All parts of s Lungs
body
Y X u
s R > Heart *
Heart w V
All parts of the body |«

Which part of the circulatory paths in the fish and the man carry oxygenated blood?

Fish Man
(1) Q Uand V
(2) Qand R UandV
{3) Rand S Uand X
(4) Q,Rand S W and V

8



14.  Study the flowchart below carefully.

Does it have a nucleus?

No

Does it have a cell wall?

Does it have chloroplasts?

Yes l

G

Which one of the following best represents the letters D, E Fand G in the
flowchart above?

D E F G
{1) | Red blood cell Onion cetl Cheek cell Leaf cell
(2) Cheek ceil Red blood cell Root cell. Onion cell
3) | Red blood cell Cheek cell Root cell Leaf cell
(4} Onion cell Root celi Leaf cell Red blood cell




15. The diagram below shows how fruits are devélbped.'

| Reprodtictive
cells from male
flower

process Q
A

Stigma of female
flower

process R

i !

S developsintoa T develops into a
fruit seed

Which one of the following identifies Q, R, S and T correctly?

Processes Parts of the flower
Q R S T
&) Poillination Fertilisation Ovary Ovule
(2) Fertilisation Pollination Ovule Ovary
(3) Germination Fertilisation Ovary Ovule
4) Pollination Germinpation Ovule Qvary

16. The table below shows the resuits of several tests done on three materials A, B

and C.
Materials
Tests A B C

Can it be bent easily? No Yes No

Can it be stretched? No Yes No

Is it waterproof? Yes Yes Yes

Does it break easily when Yes No No

dropped?

Which one of the following best represents what materials A, B and C are?

A B C
(1) Wood Plastic Ceramic
{2) Glass Styrofoam Paper
(3) Porcelain Leather Fabric
4) Clay Rubber Metal

10



17. An experiment was conducted to compare the hardness of four rods, J, K, L and
M, by scratching them on blocks made of wood, metat and glass. The results were

recorded in the table below. A tick (v') indicates the

the objects.

presence of scratch marks on

Rods used | Presence of scratch marks observed on blocks
to scratch made of
Wood Metal Glass
J v
K v v v
L
M v v

Which one of the following correctly shows the hardness of the four rods starting
with the least hard to the hardest?

Hardness
least Most
{1) L M J K
(2) K J M L
(3) L J M K
(4) K M J L

18. Diagram 1 shows a fish tank filled with 1000cm?®.of water. Two small fish of similar
size were first put in the tank as shown in diagram 2. Then one fish was replaced
with a bigger fish as shown in diagram 3. The changes in the volume of the
content of the tank are sfiown below.

Diagram 1

1200cm?
Diagram 2

2000cm®
Diagram 3

From the experiment above, what is the volume of the small fish and the big fish

.-respectively?
Volume
A small fish A big fish
(1 100cm?® 900cm?®
(2) 100cm?® 800cm?®
L(3) 200cm? 800cm?
(4) 200cm? 1800cm?®

11




19  The flowchart below is used to identify what U, V and W are.

Start

Does it have
definite volume? w
. No
Does it have \Yj

definite shape?

Based on the flowchart above, which one of the following is correctly represented

by U, V and W?
U Vv wW
(1) ice rain mist
(2) ice mist cloud
(3) Snow cloud steam
(4) cloud SnOW water vapour

12
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21.

The diagram below shows a compass seen from two different angles.

needle

o

casing
Which one of the following are possible materials for making the different parts of
the compass?

Pivot Needle Casing
1{1) aluminium steel wood
(2) cobait iron aluminium
(3) steel iron nickel
4) iron nickel steel

Diana had four magnets L, M, N and O as shown below.

L M N O

She placed the magnets near a pile of staples and recorded her observation in
the table below.

Magnet Distance between Number of staples
magnets and staples {cm) attracted
L 2 12
M 5 11
N 6 12
O 2 11

Which one of the following statements about the magnets is correct?

(1)
(2)
©)
(4)

Magnet L is stronger than magnet M.

Magnet N has the strongest magnetic strength.

The bigger the magnet, the stronger the magnetism.
Magnet M and magnet O have the same magnetic strength.

13




22. The diagram below shows a sharp bend along a two-way road.

23.

Mi rrrors

/\/ \Q\\ direction

direction
of travel

1\

/" \ R of travel
fo D= ~
Mierors B8

Which mirror(s) A, B, C, D will enable motorists at X and Y to see each other
before they meet?

{1) Aonly
(2) Bonly
(3) B and D only
{4) A/B,CandD

The diagram below shows the processes, A,' B, C and D, that have to take place
as water changes its states.

Liquid

Solid Gas

Which one of the following shows the letters representing each of the processes
in the table below correctly?

Processes
Evaporation Melting Condensation Freezing
)] A D C D
(2) B A B cC
(3) A C B D
(4) c B A C
3

14



24.  Mrs Ang conducted an experiment with a datalogger and four objects, E, F, G and
H, of the same size but made of different materials. She placed each object in
between the light source and the datalogger one at a time and recorded the
amount of light passing through the object as shown below.

\

|

tight source

/

™ object

|

|

datalogger

The amount of light passing through each type of object is recorded in the table
below. The amount of light without any object placed in between the light source
and the datalogger is 4500 lux{unit for the amount of light).

Object E F G H
Amount of 3700 0 2200 4400
light in lux

Which one of the following best represents the objects E, F, G and H?

Object E Object F Object G Object H
(1) Sunglasses Clear glass Tracing paper Cardboard
(2) Tracing paper Cardhoard Sunglasses Clear glass
{3) Tracing paper Clear glass Sunglasses Cardboard
(4) Sunglasses Cardboard Tracing paper Clear glass

15




25.

The table below shows the éxpansion of certain metallic materials, J, K and L,
when heated at 100°C.

Material Length of material | Length of material

K
Y at reom ' at 100°C
temperature
o J 20cm 22.5¢m
m K 20cm 21cm
L 20cm 23cm

Bimetallic strips which consist of two different materials bonded together are then
made from J, K and L. After heating for 5 minutes at 100°C, it was observed that
the metallic strips bent. Based on the table above, which one of the following can
be observed of the bimetallic strips after 5 minutes of heating?

(1)

(3)

. (2)

l=l-._\

t

3]

5!

16




26. A heated metal ball was p!éced ina cup of cold water.  Which one of the graphs .
below shows the temperatures of the ball and water over 30 minutes?

(1)

Temperature (° C)

room
temperature

3

Temperature (° C)

Jr.

room
temperature

1

—& Time

» lime

17

(2)

Telﬁperature (°C)

room
temperature

» [ime

(4)

Temperature (° C)

room AL EEEE EEL R Iy
temperature

»Time




27 * The graph below shows the changes in the temperature of water during an
_ experiment. Part BD shows the temperature of the water as it was heated.

Tem peraturé {°C)

Time {minutes)

Based on the graph, which one of the following statements about the water is not
correct?

(1) Water is a solid at FG.

(2) Steam is formed at BC.

(3) Water is evaporating at AB.
(4) Water is gaining heat at CD.

28 The circuit below is set up with identical bulbs and four batteries. At first, bulb K
was unlit while bulb J was lit with a brightness of 20 units. When the button 5
pushed downwards, the metal lever moves upwards to touch metal pin X (as
indicated by the arrow).

bulb K

| metal pinX button
gl ®“—1/
metal lever
metal pinY {v
metal spring
fixedrod
py X
bulbJ

What would happen to bulbs J and K when the button is pushed down?

buib J bulb K
(1) unlit unlit
(2 as bright as 20 units as bright as 20 units
(3} brighter than 20 units brighter than 20 units
(4) . unlit as bright as 20 units
18



28.

Tanya. wanted to fi nd out 1f the number of coils of wire would affect the strength of

an electromagnet.

batteries

Steel rod with 20
coils of wire

Steel rod with 13 coils
of wire

Set-up L

\\[}_ﬁ

Aluminium rod with
13 coils of wire

Aa‘aa a4t

Set-up K

Aluminium rod with
13 p_gils_of_.wire

Set-up M

Which two set-ups should Tanya use so that it would be a fair test?

(1) Set-ups Jand K
(2) Set-upsLandM
(3) Set-ups JandlL
(4) Set-ups KandM

19




30. The diagram below shows an electric circuit with 3 bulbs, X, Y and Z and 3
switches, F, G and H. ' :

i
X ® F ]

Y

Which one of the following correctly shows the bulb(s) that would be lit when the
switch(es} is/are closed?

Switch(es) closed Bulbs lit
(1) Fand G X, Yand Z
(2) Gand H Z
(3) . H X, Yand Z
(4) G Xand Z

End of Section A

20
an
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For questions 31 to 44, write*your.anSWer_s,;in this booklet. The number of
marks available is shown in-the brackets['_']-atfthe end of each question or part .
question. S o ‘ '

31. The diagram below shows a uniceilular_organisn;—P-. The organism was later cut
into two parts along line X Y. ' '

top part of

- . i1 of
organism P is ;?gp aﬁfs moP
cut and shrivelled

separated from

its bottom part @
' = ——
— (g

new top part

bottom part of
organism P

nucleus

bottom part

of organism
P grows a

new top part

‘day 1 day3

organism P uncut organism P cut into two

(a) Based on the above observation, what can you conclude about the function
of the nucleus? (1]

(b) Organism P is able to make its own food when there is light. Name the
substance in organism P that enables it to do this. (11




32.

The table below shows some information on some animal and plant cells, D, E,
F and G. A'tick {v') indicates that the part of cell is present.

Parts of cell CeliD Cell E Cell F Cell G
Nucleus v v v
Chloroplast v
Cell wall v v
Group the cells in the classification table below. [2]
Animal cells Plant cells

Ay



33 Mr Tan set up an experiment with some water plants. The water plants were

weighed and then divided into two equal portions. The volume of gas collected
in each test tube after 24 hours is shown below.

2 /7 1N\
bybbles ™ bubbles
4 =4
v I 2 |
5 water with =
clear Hwater 4 drops of -Hwater
water - plants blue ink -

-Iplants

(@) Whatis the aim of Mr Tan’s experiment?

(]

(b) The set-ups were left for a week and the plants were then weighed again.

Predict the changes in the mass of the water ptants in both set-ups 1 and
2 after 1 week. Explain your answer. 13

(c) Write a possible conclusion based on your answers in part (a) and (b).[1]




34.

Samy set-up an experiment with two similar pots of plants; one with the leaves
removed, as shown below. After 3 days, tiny water droplets were formed inside

the plastic bag of set-up A but not in set-up B.

Plant with
leaves
removeq

tiny water
droplets

Set-up A Set-up B

(a) Whatis the variable change in the above experiment? [1]

(b) If the aim of the experiment were to find out whether plants lose water
through their leaves, name two other variables that have to be kept

constant for the test to be fair. {1]

{c) When potted plants are not watered for a period of time, they will curl up -
their leaves. Based on the observation above, how does the curling up of
their leaves help the potted plants when there is insufficient water? (2]

27



35. The diagram below shows how the seeds of plant B and C are dispersed.

a0 X P
b

(@) From the diagram above, identify the method of dispersal of plant Band C
and describe the characteristics of their seeds/fruit [2]

Method of Characteristics of the seeds/fruits
dispersal

Fruit B

Fruit C

(b) Aduit plants B and C were found growing on a plot of land as shown
below. Write four of letters ‘B’ and ‘C’ each to indicate where the seeds of
both plants will be dispersed given the direction of the wind. [2]

/ direction of the wind




36. Obse_rve- the two flowers A and B as shown in the diagram below.

part T % :

part S
flower A flower B
{a) ldentify the parts S and T and state their functions. [2]
Part S Part T

Name of parts

Function of parts

(b} Based on the diagram above, identify the methods of pollination for

flowers A and B. 1]
Flower A Flower B
Methods of
pollination
7



37. Angelina conducted an. experlment to find out WhICh material is the most
absorbent. She 'hung four pieces of materials P, Q, R and S of the same size
and thickness and soaked one of their ends in a basm of water. The water mark
that appeared on each piece of matenats P, Q, R and.S at the end of the
experiment is shown below .

material material
Q

material material
string P R

] ' ]‘ |

— retort stand

walter
mark

basin with
water

|

(a) Based on the experiment above, what can she conclude about the four
materials? [1]

(b)

Which material, P Q, R or S, is most suitable for making part A of the
umbrella as shown above? Explain your answer. 2]




38. Timothy conducted an experiment with two paper cups G and H of the same
at size and made of the same material. He poured an equal amount of hot water
into each cup. Cup H has an uneven surface as shown below.

hand
hand

uneven sufrface

cup G cup H

(a) Which cup, G or H, will remain cooler to hold after one minute? Explain
your answer. (1]

On a beach, a sea snail and a hermit crab were placed on the hot sand at the
same time.

sea snail hermit crab

(b) Based on your answer in part (@), which animal is more likely to
experience an increase in its body {femperature faster? Explain your
answer? {2]

9



. .39. Two identical botiles A and B were used in an experiment as shown below.

Bottle. A contained air at room temperature while bottle B was filled with cold

water measuring 5°C. The bottles were connected with a glass tube containing
a drop of blue ink.

glass tube —~ 1 —L
=
stopper
air at room cold water
temperature at 5°C
bottle A

(a) After 5 minutes, which direction, left or right, will the drop of blue ink
move? 1]

(b) Explain your answer in part (a). (1]

10




40. Look at the diagram of a saucepan below.

(a) Suggest a suitable material for making the following parts of the saucepan

and give a reason for your choice. 2]
Parts of Suggesta Reason
the suitable
saucepan material
u
v

(b) Which material for U or V would be more suitable to make a box to
contain ice so that it can be kept for a longer period of time without
melting. Explain. i

11



41.

Fandi was provided with two boxes, X and Y, containing the following electrical
components.
Box X Box Y
Two batteries Four batteries
One bulb Two bulbs
Some wires Some wires
Fandi had to use all the electrical components in the boxes to construct two
circuits so that all the bulbs in both circuits would have equal brightness.
Draw two possible circuit diagrams, one using compenents in Box X and the
other using the components in Box Y, that would satisfy the conditions stated
above.
(@) Circuit diagram using all the electrical components in Box X [1]
(b) Circuitdiagram using all the electrical components in Box Y {1

12




- 42, Keith set up an experiment as shown below.

battery —.—]

wire

crocodile clip made
,of material G

container made

of material E liquid D

The bulb it when the crocodile clips were connected to the container without
touching the liquid.

Based on the above diagram and condition given, complete the table below.

{2]

Must it be an " Reason
electrical
conductor?
Liquid D
Material C
13

3k



the rate of evaporation of water.

43. Felicia-conducted an expérifnént‘ in an open field to fird-out if the Sun affécts

Sun
wooden
box
cups filled
with water
cup M
(@) s the experiment a fair test? Explain your answer. 1]

(b) Which cup, M and N, would have a highér water level after one day?
Explain your answer.

(c) State another factor that would affect the rate of evaporation ' which is not
shown in the experiment above. (1] -

14




44,

(a)

(b)

{c)

in the set-up below, some salt solution was heated in a beaker until it boiled.
A metal sheet was then placed over the beaker. After 15 minutes, Liquid X
was formed at the bottom surface of the metal sheet and it was collected in a
cup as shown below.

meta}
sheet

Liguid X B ]
° S T satt solution

.../ tripod stand

bunsen burner

cup

If the set-up were to represent the water cycle in nature, what could the salt

solution and Liquid X on the metal sheet represent? (1]
Salt solution:

Liquid X:

Explain how Liquid X was formed. 2]

Explain why, after some time, there was less of Liguid X formed on the

underside of the metal sheet.

£nd ot paper 37
15






EXAM PAPER 2012
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SUBJECT : PRIMARY 5 SCIENCE
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1 3 1 2 2 3 4 1 2 2 1 3 3

31)a)Nucleus controls/ enables the growth of a new top part.

b)Chlorophyll.

32)Cell G
Cell D

Cell E
Cell F

33)a)lt is to find eut if water with particles in it would affect the rate of
photosynthesis,

b)Mass of water plant in set-up 1 increased or is higher but the plants in

set-up 2 decreased. The plant in set-up 2 could not make as much food

because the blue ink crease the transparency of the water.
c)The clearer the water, the higher the rate of photosynthesis.

34)a)The presence of leaves,
b)1)Amount of water given.

2)Size of the plastic bag.

loss.

Page 1to 3

c)Curling up their leaves reduce exposed surface area and reduce water

page 1
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35)a)Fruit B : splitting [ Hard/dry fruit wall/pod like that Splits when ripe. .

Fruit C : Wind / Itis small and light.
b
) cc
cc
B B
B Cc
B B
36)a) Part s . Part T
Name of parts Anther stigma
Function of Produces pollen grains to be Catches the pollen grains that form
Parts carried by wind or insects for a tube down to the ovule to fuse
pollination, with the egg cell,
b)Flower A : insects Flower B : wind

37)a)Material a is the most absorbent, followed by material R, P, and the
Material S, which is waterproof.

b)Material S. It is waterproof so the person holding the umbrella would not
get wet by the rain.

38)a)Cup H. It's uneven surface provides smaller contact surface with the
hand hence less heat is conducted from the cup to the hand.

b)Snail does not have legs thus it has a larger body/ exposed surface in
contact with the hot sand and allow the body to gain heat at a faster rate but
the hermit crab has legs hence has a smaller body.

39)a)Right.

b)The cold water in Bottle B causes the air trapped in the bottle to contract
and air lost heat to the cold water, thus pulling the blue ink to move to its
right.

40)a)Metal / 1t is a good conductor of heat, so it will cook the food faster.
Plastic/ It is a poor conductor of heat, thus the person handling the
saucepan would not get burned easily.
b)Material V. It is a poor conductor of heat, so the ice would not gained
heat easily, Thus it can be kept for a longer period of time without melting,

Page 2




{ll)a) ——— i ] ;,L _________ — _ b) “—4(1 E}—»—- =y
SR W—
—fij—

42)No / The crocodile clips are pegged onto the container and not immersed in
Liquid D. Thus it does not need to conduct current.

Yes / The crocodile clips should be made of materials that are good -
conductor of electricity to allow the current to pass through.

43)a)No. Cup N is also exposed to the wind in the open field which will
increase the rate of evaporation while Cup M is covered by the wooden box.
b)The water level in Cup M would be higher than Cup N as the wooden box
helps to block off wind and some heat from the sun.
c)The area of exposed surface.

44)a)Salt solution : Water bodies.
Liquid X : Clouds/ mist

b)The salt solution gained heat and evaporated into hot water vapour, It
then rises up and touches the cool surface of the metal sheet. It loses heat and
condenses into water droplets. Since the met sheet is slanted the water
droplets rolled down a dripped into the cup.

¢)The metal sheet gained heat from the hot water vapour. Thug the water
vapour lose less heat to the metal sheet and condenses less.

Page 3
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